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1 1 6 BN REH ER K 260.0 156.0
2 1 3 hEARFERE mEE 199 =3 260.0 155.5
3 1 16 NRBR AR P E 260.0 155.5
4 1 14 JI#E ER K ER 259.5 156.5
5 1 13 3=8]d fats —x R 259.5 155.5
6 1 2 REE— Pifem  FRHE =K 259.5 155.5
B FEMER DO
NEAsz a—+ No. g K4 EUBE HaER | &KifT=
1 2 9 5 E 2% 20 =3 262.0 156.5
2 2 16 HIER biri== I =K 261.0 156.5
3 2 7 ALIR R KT ZEM B 260.5 157.0
4 2 1 EIZS |RAE B 260.5 156.5
5 2 8 BERLXFFR E4AR Oy E 260.0 156.0
6 2 15 IR T ZE EO =2 EX 260.0 156.0
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1 1 16 260.5 154.5
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2 1 10 260.5 154.0
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3 1 1 259.5 156.0
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4 1 2 258.5 155.0
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B g8 FF =K
5 1 6 258.5 155.0
TR T FK HER
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6 1 15 258.5 154.0
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Rk IR ER =K
1 2 14 262.0 156.0
Rk ZHE BN -
514 EE A I
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ERY /NN AW =K
3 2 1 259.0 156.0
ERY AN Sh B
AFFFE B B -z
4 2 16 259.0 155.0
AFFFE HE =% -z
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6 2 15 i ks B tE —= 258.0 153.0
Eld 2HE TE EE -z
BB FEEER O
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1 1 5 5 MR 259.5 156.0
2 1 8 KIREEEKRZHIE RBRAF 259.0 | 156.0
3 1 2 TP FER 257.5 156.0
4 1 9 NS 5ld INCIES 257.0 154.5
5 1 11 /i3 EER 257.0 154.0
6 1 1 VN IR 256.5 155.5
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1 2 1 ERE g 262.0 157.5
2 2 2 i85 B2lER 260.0 156.5
3 2 8 TR FER 259.5 155.0
4 2 11 NI IR 259.5 155.0
5 2 4 B R R 259.0 156.5
6 2 12 L= SEES EER 259.0 155.0
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